Moto-All.ru

CIIMCOK JOETAJIEY [IJId "FUEL TANK FUEL PUMP FITTINGS 305060 JET
BLK NEON BLUE; 305223 ROULETTE GREEN; 305252 FUSION WHITE"

TRIUMPH SPEED TRIPLE 1050

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CIIMCOK JOETAJIEY [IJId "FUEL TANK FUEL PUMP FITTINGS 305060 JET
BLK NEON BLUE; 305223 ROULETTE GREEN; 305252 FUSION WHITE"
TRIUMPH SPEED TRIPLE 1050

[[WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

10

11

12

13

13

14
15
16
17
18
19

20

T2401042-EG

T2401042-CM

T2401027-JM

T2401027-HG

T2401027-JO

T2401042-HS

T2401042-PS

T2401042-PG

T2401027-PG

T2401042-NF

T2401027-NF

T2400546
T2400499
12401887
T2401250
T3331234
T2405034
T2400446
T3330588
T3205079

T2400641

T3350123
T3620221
T3620344

T2400074
T3620111
T3700047
T3331196
T2401014
T2401028

T2401026

Ne OEM

Ha/IH4YHe / CPOK MOCTaBKH

CpOK IIOCTaBKH OT 27 gHEN

Cpok noctaBku 0T 19 gHe

CpOK IIOCTaBKH OT 27 gHEN

CpOK TIOCTaBKu 0T 27 gHEeU

CpOK TIOCTaBKH OT 27 gHEH

Cpok noctaBku oT 19 gHen

Cpok nocTaBKu 0T 27 gHel

CpOK TIOCTaBKH OT 27 gHEeU

Cpok nocTaBku 0T 27 gHel

CpOK TIOCTaBKH OT 27 gHEeN

Cpok nocTaBku 0T 27 gHel

CpOK IIOCTaBKH OT 27 gHEN
CpOK IOCTaBKu 0T 27 gHEU
CpoK mocTaBku oT 19 gHein
CpOK TIOCTaBKu OT 27 gHEeU
Cpok nocTaBKu 0T 27 gHel
Cpok nocTtaBku oT 19 guein
CpOK 1OCTaBKu 0T 27 gHEeU
CpOK IIOCTaBKH OT 27 gHEN

Cpoxk noctaBku 0T 19 gHen

CpOK IIOCTaBKH OT 27 gHEU

CpOK TIOCTaBKu OT 27 gHEeU
Cpok nocTaBKY 0T 27 gHel
CpOK TIOCTaBKH OT 27 gHEeU

Cpoxk nocTaBKu 0T 27 gHel
CpOK IIOCTaBKH OT 27 gHEN
CpOK 1IOCTaBKu 0T 27 gHEeU
CpOK TIOCTaBKH OT 27 gHEU
CpOK TIOCTaBKu OT 27 gHEeU

Cpok nocTaBKu 0T 27 gHel

CpOK TIOCTaBKH OT 27 gHEN

HaumeHOBaHHe

SPARES KIT, FUEL TANK,
ORANGE

Fuel Tank Assy. Tornado Red -
Special Edition

SPARES KIT, FUEL TANK,
BLUE

SPARES KIT, FUEL TANK,
GREEN

FUEL TANK
ASSY,METAL,NEON BLUE

Fuel Tank Assy. Matt Khaki
Green 440663

SPARE KIT,FUEL TANK, MATT
BLACK

SPARES KIT, FUEL TANK,
BLACK

FUEL TANK ASSY,METAL,JET
BLACK

SPARES KIT, FUEL TANK,
WHITE

FUEL TANK
ASSY,METAL,FUSION,NF

INSULATION, FUEL TANK
PUMP, FUEL

Seal, Fuel Pump Module
LOCATION PLATE, FUEL PUMP
SCREW, TORX,P/H,M6%1*20,SLV
Seal, Fuel Filler Cap
BUSH,RUBBER

COMPRESSION LIMITING ROD
Bolt, HHF, Lghtd, M6 x 105, Slv

PAD,RUBBER,FUEL TANK -
FRAME

NUT, CAPTIVE, M5, NON
SECURED

PIPE, FUEL TANK OVERFLOW

PIPE, FUEL TANK, OVERFLOW
40MM

VALVE,ROLL OVER

HOSE, FUEL, FORMED
GUIDE,CABLE
SCREW,SKT,CSK,M6X25,SLV
BOSS, TURNED

RUBBER, FRONT MOUNT

BRACKET, FUEL TANK, REAR
MTG

Ko-Bo
B y3j1e



21 T2401039 CpoK moCTaBKu OT 27 OHeH FUEL LEVEL SENDER 1
22 T3350003 Cpoxk mocTaBKu 0T 27 gHeH FLANGED LOCK NUT, M6 1
22 T3350012 Cpok nocTaBKu 0T 27 gHel IZ“?I\?(IfNUT’ FLGD, M6 BLACK 1
23 T3300100 CpoK mocTaBKu 0T 27 mHeH RIVET 2
24 T3908400 CpoK IocTaBKu 0T 27 JHeH LABEL,FUEL TANK,BLACK 1
. LABEL,FUEL TANK
24 T3900194 CpOK TIOCTaBKH OT 27 gHEeU DIAG,UNFRD 1
25 T3908401 Cpoxk nocTaBku 0T 27 gHel LABEL,RUNNING IN,BLACK 1
25 T3900154 CpoK moCTaBKM OT 27 OHeH LABEL,RUNNING IN 1
26 T3620098 Cpoxk mocTaBKu 0T 27 gHeH PIPE, HOSE, 5X8X35 1
27 T3700440 Cpok nocTaBKu 0T 27 fHel CLIP,HOSE,11.0-12.5MM 1




